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Math 8  

Number Properties- Homework
Identify the property being illustrated. 

1) a(9 – 7) = (9 – 7)a 

2) 8m + (9m + 2) = (8m + 9m) + 2 

3) 5(5x + 2) = 25x + 10 

4) 12n + 5n = (12 + 5)n 

5) 9 + (3b + 8) = (3b + 8) + 9 
6) k + 5k + 8 = (1 + 5)k + 8
     7) 
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(x + 3)  0 = 0 

8) –y + y = 0 

     9) 
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11) The following is a proof of the algebraic equivalency of (2x)3 and 8x3.  Fill in each blank with either the statement “Commutative Property” or “Associative Property. 



(2x)3 
= 2x • 2x • 2x 







=2(x • 2)(x • 2)x

____________________




=2(2x)(2x)x


____________________




=2• 2(x•2)x • x 

____________________



= 2• 2(2x)x • x


____________________




=(2 • 2 • 2)(x • x • x)

____________________




= 8x3

[image: image4.png]What is a quick way to see that the value of the sum 53 + 18 + 47 + 82is 200?

53+ 18 + 47 + 82 = (53 + 47) + (18 + 82) = 100 + 100.

1
a. Ifab=37andxy = 37 what is the value of the product x X b X y x a?
xxbxyxa=(xy)(ab) =1.

b.  Give some indication as to how you used the commutative and associative properties of multiplication to
evaluate x X b X y X ain parta).

xX bxyXa=xxyxa x b by two applications of the Commutative Property and x X y X a X b =
(xy)(ab) by the Associative Property
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